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B. + 0/3 points /f LarTﬁgW :
Find the missing values by solving the parallelogram shown in the figur'el (The lengths of the diagonals are given by c and d.
Round your answers to two decimal places.) ‘
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Find the missing values by solving the parallelogram shown in the figure. (The lengths of the diagonals are given by c and d.
Round your answers to two decimal places.)
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1.+ 0/2 points LarTrig10 3.2.052. [3882788]

A plane flies 830 miles from Franklin to Centerville with a bearing of 75°. Then it flies 686 miles from Centerville to
Rosemount with a bearing of 32°. Draw a diagram that gives a visual representation of the problem. Then find the straight-
line distance and bearing from Franklin to Rosemount. (Round your answers to one decimal place.)
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12.  + 0/4 points LarTrig10 3.2.056. [3882850]

An engine has a seven-inch connecting rod fastened to a crank (see figure).
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(a) Use the Law of Cosines to write an equation giving the relationship between x and 6.
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